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B. Sc. (Ag.) (Hons.) Examination, Dec. 2022 1. Define identity matrix with example. 3
Elementary Mathematics quﬁwamﬂu' gigd Ao |
(AG-113)
2. Evaluate : 3
{New Course)
lime : Three Houis] [Maximum Marks : 75 = :
J-S x*dx.
Note: Attempt questions from all Sections as per
instructines. 3. Find the distance ofthe point (3. 4Yand (5.2). 2
Tl @uel § MESNTAN Y97 2 T | 93 J (3.4) T (5,2)3 §9 Bl g8 51 Hifre |
Section-A
qUe-31 4. If:
: RIEE
(Very Short Answer Type Questions)
(st g S W) FO)=4x' +25" 43545
Attempt all the five questions. Each question then find /(2). 3
carries 3 marks. 3x5=15 oS AN I conrciel
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(3)

Write the formulac of the following : 3

{(b) —cosx=

Section-B

qus—q
(Short Answer Type Questions)
(g swla ww)
Attempt any fwo questions out of the following
three questions. Each question carries 7%2 marks.
T2x2=15

frafefiga d9 99 & 9 Bt @ ueE B o
FIFAT | T U 7Y% HE H B |

(4)
Lvaluate 7y
-
HH §1q Eﬁ'[ﬁ‘l'l:{ :
. x? - 3x+2
lim )
X327 x-2

Find the arca of a triangle whose vertices are

(4,6),(0,4)and (6, 2). 7V
38 Bt &1 aewd s e Bes ot @
fFeTies (4.6),(0,4)3% (6,2) ¥ |

Section-C
que-q
(Detailed Answer Type Questions)
(Fregr st i)

Attempt any three questions out of the following

five questions. Each question carries | 5 marks.

Prove that : T4
e Ao /6 15x3=45
a h g Fretfeafiga g gg=t § @ feedt @ gt B &
h b fl=abc+2fgh—af*-bg? —ch’. |
. f BT | 94T 997 15 i Bl 2 |
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9.

10.

11274

(3)

(a} I

i
2 3
-3 3}
then find A‘UI. i I'l A
-1
A ] HH § i1 |
(b) If:
afe .
1 4 -1 -2
A=3 2|,B=| 0 5 12
2 5 31

then find the walue of matrix D, when
A+B-D=0.

7%
99 HAGE D & W Sa P, ofeih
A+B-D=0 % |

(a) If:

Fi(x)=3x> +2x+1,
then find f(x). 7Y
a9 f(x) Td I |
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(6)

(b) Ewvaluate: 714

HH §Td Fif -

_{cos[}x + 4)d.

Find the ditYerentiation with respect to'x":

' B IR STahal ST HITC -

(a) x logx 7V

(b) 8sinx+5logx+e’. 74

(a) Find the coordinates of the point which
divides the line segment joining the points
(—4.4)and (7. 2)intheratio4:7 externally. 7'
5a fag & Fdwi® i T S fgal
(—4.4)TE1(7.2) ﬁaﬁaﬁ{?ﬂ 4:7%
U 7 el A HLE B 1 T

(b) Findthe equation of the circle passing through

the points (1. 1).(0.-1)and (-2.0). 7'
39 g9 H B S Hfore S frgat

(1.1).(0.-1) 3T (=2.0) & BHT A& |
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(7)

(a) JVindthe equation of the tangent to the circle

3.
Z+y'=25atthe point (3,4). 8
' L |
Rrg (3, 4) W 34 £’ +)y/=25 @ W@ #
FHTHIOT ST BT |

(b) Theeguation ofalineis 6x+5y+7=0. Convert
the equation into (i) the slope intercept form,
and (ii) intercept form. 7

T ¥ F; OAHTETY 6x45y+7=0 B |

ZAETO F (i) FA @ (mEeET) =,

77 (i) A ETE =9 H gicgian #iag |
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